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1- What are the possible outputs of the following algorithm?

	semaphore S1 ← 0, S2 ← 0

	p
	q
	r

	p1: write("p")

p2: signal(S1)

p3: signal(S2)
	q1: wait(S1)

q2: write("q")

q3:
	r1: wait(S2)

r2: write("r")

r3:


2- Change the order of the previous algorithm so that the output is "rpq".

3- what are the possible outputs of the following algorithm?

	 

semaphore S ← 1boolean B ← false

	p
	 q

	p1: wait(S)

p2: B ← true

p3: signal(S)

p4:
	q1: wait(S)

q2: while not B

q3: write("*")

q4: signal(S)


